Catalyst Adjustable Fender Side Guard

Kiz Mobility
2

Side Guard Height

Small 6.6"

Medium 7.7"

Large 9.2"

{ A
\
% \
% \
\ \
\ 3 N
ooooooooﬂ
L 5
\ \
\ 4
X \

"

If retrofitting, side guard receivers may be required

Item Number Part Number  Description Quantity
la, 1b, 10-13, Carbon Fiber Adjustable Fender Assembly,

16 S Small, PAIR 1
2a, 2b, 10-12, Carbon Fiber Adjustable Fender Assembly,

14, 16 506717 Medium, PAIR 1
3a, 3b, 10-12, Carbon Fiber Adjustable Fender Assembly,

15 16 206719 Large, PAIR 1
4a, 7b, 10-13, 107576 Aluminum Adjustable Fender w/Foam Insert 1
16 Assembly, Small, Right, Black Matte

4p, 7a, 10-13, 107577 Aluminum Adjustable Fender w/Foam Insert 1
16 Assembly, Small, Left, Black Matte

4a, 4b, 7a, 7b, 506703 Aluminum Adjustable Fender w/Foam Insert 1
10-13, 16 Assembly, Small, PAIR, Black Matte

4e, 4f, 7a, 7b, 506705 Aluminum Adjustable Fender w/Foam Insert 1
10-13, 16 = Assembly, Small, PAIR, Match Frame Color

5a, 8b, 10-12, 107580 Aluminum Adjustable Fender w/Foam Insert 1
14, 16 Assembly, Medium, Right, Black Matte

5b, 8a, 10-12, 107581 Aluminum Adjustable Fender w/Foam Insert 1
14, 16 Assembly, Medium, Left, Black Matte

5a, 5b, 8a, 8b, 506707 Aluminum Adjustable Fender w/Foam Insert 1
10-12, 14, 16 Assembly, Medium, PAIR, Black Matte

5e, 5f, 8a, 8b, 506709 Aluminum Adjustable Fender w/Foam Insert 1
10-12, 14, 16 = Assembly, Medium, PAIR, Match Frame Color

08-06-2025



[tem Number  Part Number  Description Quantity

6a, 9b, 10-12, 107584 Aluminum Adjustable Fender w/Foam Insert 1

15, 16 Assembly, Large, Right, Black Matte

6b, 9a, 10-12, 107585 Aluminum Adjustable Fender w/Foam Insert 1

15, 16 Assembly, Large, Left, Black Matte

6a, 6b, 9a, 9b, 506711 Aluminum Adjustable Fender w/Foam Insert 1

10-12, 15, 16 Assembly, Large, PAIR, Black Matte

6e, 6f, 9a, 9b, 506713 Aluminum Adjustable Fender w/Foam Insert 1

10-12, 15, 16 === Assembly, Large, PAIR, Match Frame Color

1a 003613 CR:%rEton Fiber Fender Panel, Adjustable, Small, 1

1b 003614 E(aafibon Fiber Fender Panel, Adjustable, Small, 1

2a 003615 g%rrt])ton Fiber Fender Panel, Adjustable, Medium, 1

ob 003616 ngrt'bon Fiber Fender Panel, Adjustable, Medium, 1

3a 003617 giaérrl?ton Fiber Fender Panel, Adjustable, Large, 1

3b 003618 (ngfibon Fiber Fender Panel, Adjustable, Large, 1
Aluminum Fender Panel, Adjustable, Small,

4a 003595 Right, Black Matte 1
Aluminum Fender Panel, Adjustable, Small, Left,

4b 003596 Black Matte 1
Aluminum Fender Panel, Adjustable, Small,

4e 003595__ _ Right, Match Frame Color 1
Aluminum Fender Panel, Adjustable, Small, Left,

af 003596_ _ _ Match Frame Color 1
Aluminum Fender Panel, Adjustable, Medium,

sa 003597 Right, Black Matte 1
Aluminum Fender Panel, Adjustable, Medium,

5b 003598 Left, Black Matte 1
Aluminum Fender Panel, Adjustable, Medium,

oe 003597__ _ Right, Match Frame Color 1
Aluminum Fender Panel, Adjustable, Medium,

Sf 003598_ _ _ Left, Match Frame Color 1
Aluminum Fender Panel, Adjustable, Large,

6a 003599 Right, Black Matte 1
Aluminum Fender Panel, Adjustable, Large, Left,

6b 003600 Black Matte 1
Aluminum Fender Panel, Adjustable, Large,

6e 003599__ _ Right, Match Frame Color 1
Aluminum Fender Panel, Adjustable, Large, Left,

6f 003600__ _ Match Frame Color 1

7a 003625 Fender Foam Insert, Adjustable, Small, Pair 1

8a 003627 Fender Foam Insert, Adjustable, Medium, Pair 1

9a 003629 Fender Foam Insert, Adjustable, Large, Pair 1

10 003590 Fender Post Mount Plate 1

11 001342 Side Guard Post Stop 1

08-06-2025




[tem Number  Part Number  Description Quantity
12 101184 M6 x 10 BTN SHCS BLKZC w/Patch 1
13 003587 Post, Adjustable Fender, Short 1
Used with small side guard panels
14 003588 Post, Adjustable Fender, Medium 1
Used with medium side guard panels
15 003589 Post, Adjustable Fender, Tall 1
Used with large side guard panels
16 103573 M5 x 8mm LP SHCS BLK 4
sa7b  [sosse | pmingm Adyetable Pende PanelwFoa 1
t7a  |sosesz | pumingn Adatlc Fender Panel woa :
ta.4b.7a,7b [sosses | uminum Adyetable Pende PanelwiFoarn :
satb |soesra | puminm Adustzble Fender Panelwiroa :
sb.sa [sose7a | pminam Adustable Fender Panel wiFoarn 1
sa.Sb, 680 [s0s67s | purinem Adueleble Fender Panelwiroarn :
ash  |soscgs | puminm Adetabl Fender Panel wiFoar 1
b.oa  [sosegs | muminm Adustabl Forder PanelwiFoarn :
Ga.Gb, 50,9 |506687 | it Adistebl Ferder Panel wiFoarn 1
1a, 1b 506697 g%gon Fiber Adjustable Fender Panel, Small, 1
2a, 2b 506699 g%gon Fiber Adjustable Fender Panel, Medium, 1
3a, 3b 506701 gﬂgon Fiber Adjustable Fender Panel, Large, 1
R A e e e :
si7a|sosess___ | mumingm Aduslane Fender ParelwFoan :
te. 41,7, 7o |soseso___ | pumin Adusteble Fender Panel woarn 1
se.sb [sosero___ | pminem Adeleble Fender PanelwPoarn 1
sisa |sosego___ | pminam Adustable Fender PanetFoarn 1
se.5i.6a, 8 |sose1___ | purinem Adeleble Fender PanelPoarn :
ce.db |soseo1__ | pminim Adetable Fender Panel o :
6f, 9a 506692 Aluminum Adjustable Fender Panel w/Foam 1

Insert, Large, Left, Match Frame Color

08-06-2025




[tem Number  Part Number  Description Quantity

Aluminum Adjustable Fender Panel w/Foam
6e, 6,93, 90 | 506693__ _ Insert, Large, PAIR, Match Frame Color 1

08-06-2025




Determining Fender Panel & Post Size For Your Chair

CATALYST

Fender side guard panel size needed to fit a Catalyst is driven by the height of the tire over the seat. To
calculate this, use the formula listed below. Once you have the output of the formula use the reference
matrix to find the appropriate panel and post sizes. For information on Wheel Outside Diameter reference
the Wheel Outside Diameter chart in the parts manual.

Formula: Wheel Outside Diameter (OD) — Rear Seat Height = Tire Height over seat

Reference Matrix:

Tire Height Panel and Post Size

Tire Height = less than 6”

Small Fender/Short Post

Tire Height = 6-8”

Medium Fender/Medium Post

Tire Height = greater than 8”

Large Fender/Tall Post

ADULT & PEDIATRIC RIGID

Fender side guard panel size and profile is driven by the height of the tire over the seat frame and Center
of Gravity (CG) position. To calculate this, use the formula and CG rules listed below. Once you have the
output of those use the reference matrix to find the appropriate panel and post size.
Formula: Wheel Outside Diameter (OD) — Rear Seat Height = Tire Height over seat
CG Rules: Axle CG position = distance from axle to backrest tube

Ethos & Rogue: CG position < 3.0” use Short Fenders & if CG is > 3.25” use Standard Fenders

Tsunami: CG position < 3.25” use Short Fenders & if CG is > 3.25” use Standard Fenders
Pediatric Rigid: CG position < 3.25” use Short Fenders & if CG is > 3.25” use Standard Fenders

Reference Matrix:

Tire Height Panel and Post Size

Tire Height = less than 7”

Small Fender/Short Post

Tire Height = 7-8.5”

Medium Fender/Medium Post

Tire Height = greater than 8.5”

Large Fender/Tall Post

08-06-2025

Ki, Mobility

_/l\_ Better by Design

DCNO0433.2



Wheel & Tire Outside Diameter Measurement Reference

Tire Description

Outside Diameter

18" Street Pneumatic 1-3/8" 18.9
18" Full Profile Poly 1-3/8” 18.5
18" Pneumatic w/Airess Insert 1-3/8" 18.8
18" Low Profile Poly 1” 17.7
20" Street Pneumatic 1-3/8" 20.7
20" Full Profile Poly 1-3/8” 20.2
20" Pneumatic w/Airess Insert 1-3/8" 20.5
20" Low Profile Poly 1” 19.3
20" Sentinel Solid 1” 19.6
20" High Pressure 1" 20.3
20" SHOX 19.6
22" Street Pneumatic 1-3/8" 22.5
22" Full Profile Poly 1-3/8" 22.3
22" Pneumatic w/Airless Insert 1-3/8" 22.4
22" Low Profile Poly 1” 21.4
22" Sentinel Solid 1” 21.9
22" High Pressure 1” 22.3
22" SHOX 22

22" Mountain 2" 24.1
24" Street Pneumatic 1-3/8" 24

24" Full Profile Poly 1-3/8” 23.6
24" Pneumatic w/Airless Insert 1-3/8” 23.9
24" Schwalbe HS-127 1-3/8” 24

24" Euro Trek Knobby 1-3/8” 241
24" Low Profile Poly 1” 22.8
24" Sentinel Solid 1” 23.3
24" High Pressure 1" 23.6
24" Schwalbe One 1” 23.8
24" Schwalbe Marathon Plus EVO 1” 24

24" SHOX 23.3
24" Schwalbe Downtown 1” 23.6
24" Mountain 2" 25.6
25 Sentinel Solid 1” 24

25" High Pressure 1” 24.3
25" Schwalbe One 1" 24.3
25" Schwalbe Marathon Plus EVO 1 24.4
25" SHOX 241
25" Mountain 2" 26

26" Street Pneumatic 1-3/8" 26

26" Full Profile Poly 1-3/8” 25.8
26" Pneumatic w/Airless Insert 1-3/8” 25.8
26" Sentinel Solid 1” 251
20" High Pressure 1” 25.5
26" Schwalbe Marathon Plus EVO 1” 25.9
26" SHOX 25.3

08-06-2025

Ki, Mobility

_/l\_ Better by Design

DCNO0404 Rev. 0



